## MEHRAN UNIVERSITY OF ENGINEERING & TECHNOLOGY, JAMSHORO SCHEDULE - B

SUBJECT: Cleaning of Water Tanks, Cleaning of Debris from the top of the roof, Cleaning of Water Spout and opening of out lets of Culverts etc preior to the moonsoon season of every year.

## GENERAL ABSTRACT

1 PART-I CIVIL WORK (Schedule Items) — 5096.07
2 PART-II CIVIL WORK (Non-Schedule Items) — 196700.00
3 PART-I PLUMBING WORK (Schedule Items) — 3882.50
4 PART-I PLUMBING WORK (Non Schedule Items) — 15060.00

TOTAL 266638.57

SAY 3,66639. 02

NOTE:- Escalation shall be paid as per Notification of Standing Rates Committee separately, therefore Contractor should not cover any escalation in their premium. The Contractor will be bound in the variation of rates of escalation (Increase or Decrease) time to time issued by the Standing Rates Committee, Government of Sindh.

Executive Engineer

M/s Ubedullah Quresh Approved Govti Contractor



SUBJECT: Cleaning of Water Tanks, Cleaning of Debris from the top of the roof, Cleaning of Water Spout and opening of out lets of Culverts etc prior to the moonsoon season of every year.

S.#	ITEM	QTY	Rate:U	nit	AMOUNT	
PAI	RT-I (CIVIL WORK) Sch: Items	- V.S				
1	Dismantling cement concrete plain 1:2:4.(S.I # 19 (c) P-11)	250.00	1597.20	%Cft	3993.00	
2	Providing & laying 2" thick toping cement concert (1:2:4) including surface finishing and dividing into panels (C) 2" thick. S.I.No. 16(c) Page # 47.)	900.00	1396.67	%Sft	12570.03	
3	Reinforced cement concrete work i/c the cost of steel reinforcement and its labor for bending and binding which will be paid separately. This rate also includes all kinds of forms, moulds, lifting, shuttering, curing, rendering and finishing the exposed surface laid in position complete in all respects Ratio 1:2:4. 90 lbs cement 2cft sand 4cft shingle 1/8" to 1/4" gauge (S.I # 6 (a) P-18 & 19	103.78	114.00	P.Cft	11830.92	
4	Fabrication of tor steel reinforcement for cement concrete including cutting bending, laying in position malting joints and fastening including cost of binding wire (also includes removable dust from bars. (b) Using Tor bars. S.I.No: 7(ii) (b) P-20.	6.48	2772.55	P. Cwt	17966.12	
- 80			Sub-Total	=	46360.07	
	Premium quoted by the Contractor!.	.% Above	Below		4636.00	
	Total				50996.0	

.#	ITEM	QTY	Rate: U	nit	AMOUNT
AI	RT-II (CIVIL WORK) Non-Sch: Items			V	×
1	Cleaning the over head / under ground water tanks etc complete in all respects as per instructing of Engineer / Incharge	82.00	600/2	Each	49200/2
2	Labour for Cleaning the top of all roof of any new department / institute including cleaning of Debris, cleaning of Water Spout if any etc complete in all respects as per instructing of Engineer / Incharge.	15	3600/2	Each	540007
3	Labour for Cleaning the top of all roof of any Old Hostels including cleaning of Debris, cleaning of Water Spout if any etc complete in all respects as per instructing of Engineer / Incharge.	2	10000/2	Each	2000
4	Labour for Cleaning the top of all roof of any New Block Hostels including cleaning of Debris, cleaning of Water Spout if any etc complete in all respects as per instructing of Engineer / Incharge.	5	5200/2	Each	26000 p
5	Labour for Cleaning the top of all roof of any New Girls Hostels including cleaning of Debris, cleaning of Water Spout if any etc complete in all respects as per instructing of Engineer / Incharge.	2	4001/2	Each	8000/2
6	Labour for Cleaning the top of all roof of any old department / institute including cleaning of Debris, cleaning of Water Spout if any etc complete in all respects as per instructing of Engineer / Incharge.	9	2000/2	Each	18000/2
7	Labour for Cleaning the top of all roof of any Administration Block and main corridor i/c Old Departments including cleaning of Debris, cleaning of Water Spout if any etc complete in all respects as per instructing of Engineer / Incharge.	1	5000/s	Each	Secreta
8	Cleaning / opening of out lets of Culverts etc complete in all respects as per instructing of Engineer / Incharge,	6 .	0101	Each	165007
			TOTAL		1,16.400



S.#	ITEM	QTY	Rate:Unit		AMOUNT
1	P/F handle valve (China)(S.I # 7 P-14) i) 1/2" dia	10	75.45	Each	754.50
	3/4" Dia	10	102.95	Each	1029.50
3	Providing / Fixing bal valve (with unsoldered copper ball) (ii) 3/4" dia (S.I # 8 P-14)	15	139.90	Each	2098.50
					Rs.3,882.50
	Premium quoted by the Contractor (15 Nov	.%-Above	Below		
	-		Total	g.	3882.50

S.#	ITEM	QTY .	Rate: U	nit	AMOUNT
1	Porviding / Lying including Cutting Fitting PVC Pipe 4" dia and trenches & testing jointing with special type solution complete in all respects as per instruction of the Engineer in charge	100.00	100/2	P.Rft	10000/2
2	Porviding / Fixing PVC standard Tee 4" dia and trenches i/c jointing with special type solution complete in all respects as per instruction of the Engineer in charge	8	320/2	Each	2560/2
3	Porviding / Fixing PVC standard Bend 4" dia and trenches i/c jointing with special type solution complete in all respects as per instruction of the Engineer in charge	10	250/1	Each	25ct/2

Executive Engineer

M/s Ubedullah Quresh Approved Govts Contractor

## **Bid Evaluation Report**

1. Name of Procuring Agency: Mehran University of Engineering & Technology, Jamshoro

2. Tender Reference No: MUET/XEN/JAM/2011/-75, dated: 14-03-2011

3. Tender Description/Name of work/item: Cleaning of Water Tanks, Cleaning of Debris from the top of the roof, Cleaning of Water Spout and opening of out lets of Culverts etc prior to the moonsoon

season of every year.

4. Method of Procurement: Domestic/ Local

5. Tender Published: MUET Web Site on 15-03-2011, SSPRA Web Site on 15-03-2011 Print & Electronic Media (SPPRA ID No. & News papers names with dates)

Total Bid documents Sold; <u>03 Numbers</u>

7. Total Bids Received:

03 Numbers

8. Technical Bid Opening date: (if applicable) Not Applicable (Provide details in separate form)

9. No. of Bid technically qualified (if applicable): No. of Bid technically qualified (if applicable):

10. Bid(s) Rejected: Nil

11. Financial Bid Opening date: 06-04-2011

## 12. Bid Evaluation Report:

(

S #	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/	Remarks
0	1	2	3	4	rejection	
4	M/s Ubedullah Qureshi & Co,		-	4	5	6
1	Hyderabad.	266.639.00	1 <sup>st</sup>	0.575% Below	Accepted due to lowest	
2	M/s M.R.B Contractors,					9
	Hyderabad.	272,315.00	2 <sup>nd</sup>	1.541% Above	Highest	
3	M/s Abdul Wajid Balouch &					
	Brothers, Hyderabad.	284,942.00	3 <sup>rd</sup>	6.250% Above	Highest	